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qusuedna enenvnke-snruuere

(hwqup npuudGhpmy])
wyn pymd” (wbpugnidGbpp Grywo
% ala AmotinuihG dwiuutinh qnpéwpwliwb puuwluwpqiub % Ll gpulul Grwlny, hul
|2 5 pwdhGGtph, fudptinh L npwubph, hGswbu Gul pynetmw hG o CGnudklp GywqbgniiGhpp Yrunluqdtpniy)
E 3 E ¢#| owfuutiph mGwmbtumghnwlywmb nuuwyupgiwh hnnjwdGsaph é-
wimnuiGinp ﬁ; Jupswluil pymok| $nlnwjhl pymet
1 2134 5 6 7 8 9
LLAIUUGLE SULUGE (1,043,982.3) (1,043,982.3) -
2400|04[0(0 SLSHEUUUUL <ULULAGLNRE3NRFLLER 2,244,621.6 2,244,621.6 -
wn pymid’
2450| 04| 5| 0| Spwluwynmn 2,220,261.6 2,220,261.6 -
nphg-
24511 04] 5[ 1 [6wGwwwphwih6 wpwGuynpn 2,220,261.6 2,220,261.6 -
wjn pynid’
12, SpuiuynmnuizhG hwdwmljwnpgh wpnhwljwGugmy 2,170,261.6 2,170,261.6 -
-Uj hwnytp 4822 2,170,261.6 2,170,261.6 -
16. Uuhwlwl pwGhh wowlgnipjudp hpwlwGugng
wpuhl bpwwunnigyuopltph L w, wynil
wpqugiwl Ghpnpnifuhl dpwenph hudwjwpgnid L 30,000.0 30,000.0 )
wpwywnmy (wuwunghnwijuwo jhuqnpmipm GGG
-Uj] dwfuubip 4861 50,000.0 50,000.0 -
2490 04|90 SGunbuwlpwl hwpwpbpmpym 666p (wj; puubphl syunnljulng) 24.360.0 24.360.0 )
nphg*
2491 04 9 1S[imhuLullulﬁhul[lLuphpmmeﬁﬁhp (wy nuubtphl syyuwwnyubng) 24.360.0 24.360.0 )
wyn pynuy”
12. {punmuoyy (niomy yyuwhw G Gipuw, w fuunnuip G, 24,360.0 24,360.0 }
hnwlwGugnid
-CGnhwnip pGniyph wy) ownwjmpjniGGtp 4239 24,360.0 24,360.0 -
2500105[0(0 CrRUUU Uh2Ud U3,k MUCSNULNARMO3NFL (3,293,949.3) (3,293,949.3) -
wy pynid®
2510{05] 1 | 0 |UnpwhwGnd (3,293,949.3) (3,293,949.3) -
nphg
2511105 1] 1 |UnpwhwGnud (3,293,949.3) (3,293,949.3) -
wyn pynid’
4. Gi wlpwub G, w6 puGhh wowlgnipud]
wlwlw «Gpluwbh §nywm puhnGlaph Jupwijupdwly (1,117,862.4) (1,117,862.4) -
w wuimuljjud jhwqnpnipni GGh
-Uj] dwjuubip 4861 (1,117,862.4) (1,117,862.4) -
5. Gi wlwl dhmpjuG huplwGnipjul Gh 1gurh
0] wowljgnip ] wljwGw «GpluulGh Ynpwn
unpnlGbph Gunufupduly gpuiu GophuihG dpw (642,467.4) (642,467.4) -
unniffipwljud jhwgnpnipn GG
-Uj] dwfuubip 4861 (642,467.4) (642,467.4) -
6. Uplbinub wjh EGbpqufuGuynnnipyud L
Guuwhuyw Gl Ghtipmprul $n wowlignip ]
wlwlu «GplwGh §nyn punhnGGh wpwjupdw i (426,025.6) (426,025.6) )
wiuy inphuifhG dpuw unnifipwlywd jhuwgnpnipyn 664
-Uj dwfuubip 4861 (426,025.6) (426,025.6) -
7. dbpwlpupmguwl L qupqugdul typnujwljwG pullhh
wowlgmpudp hpwljw G «GpluuGh nywn punhnGGh (1,107,593.9) (1,107,593.9) -

wnwjwndul opughpy (yuunlhpulyud jhwqnpmpini 664




wyn pymd’ (wybpugmilGbpp Gyjno

% =l e, RymeotinnwjhG dwiuutph gnpéwnwwl nwuwyupgiwb % &G gl Grwbng, puly
;,g) E E ¢| owluubph mmbuwghnwjwl nuuwympqiwl hnnymoGtph =2
wGtlmiGhpn g quinswlpnG pymet| Pnbnuyht pymigh
1 21314 5 6 7 8 9
-Uj) dwluubp 4861 (1,107,593.9) (1,107,593.9) -
2800(08(01]0 LULAhUS, UTUUNkR3E G4 ulLNL 33,358.7 33,358.7 -
wjy pymid’
2820) 08 | 2 | O |Dwlymipwijhl dwnwmpim GGhp 33,358.7 33,358.7 -
nphg-
2821{08] 2 | 2 |Pwlqupwlitp L gnigwupwhibp 500.0 500.0 -
wn pynid”
1. Puwlqupubuihl owpwmpini G6bp L gmgwhwnbulGbn 500.0 500.0 -
-UnipuhnhwGbp ng-bhGwbGuuwub yhnwlwb (hwiwjGpujhG)
gl bpunipymGGEIhG 4511 500.0 500.0 -
2825|108 2 | 5 [Upytiun 32,858.7 32,858.7 -
wn pynig’
2. Punnbpuiljul Ghpyuw uugnmuGhp 32,858.7 32,858.7 -
-UnipuhnhwGbp ng-$hw Guuwub yhnwlw (hwiwlGpwhG) 4511 328587 32 858.7 )
YwqiwltpynmpmGGhphG T T
2900/09(0(0 UrENrMr3NKML 48,410.7 48,410.7 -
wyn pynid’
2910| 09| 1| o | vluumUpngUu b wuppuyw G plghwGnip yppoipyni (4,135.1) (4,135.1) ;
nphg"
2911{09] 1] 1 |bwjuwnypnguwlwC YppmpiniG (4,135.1) (4,135.1) -
wjy pynid’
3. buw, wlwl §ppoipim b (wunnhmuljwo
[PE———— 4,135.1) #4,135.1) -
-UnipuhnhwGbp ng-bhGwluuwub ybnwlwb (hwiwjGpujhG)
wquuljpugnp i GGERhG 4511 (4,135.1) (4,135.1)
2920) 09 | 2 | 0 |UpoGwljupg plinhwGmp ppmipini G 46,953.0 46,953.0 -
nphg
2922] 09| 2 | 2 [VP2GwUwna(inh) plnhwlnip Yppnepjnil (wwwnghpwlywo 46.953.0 46.953.0 )
1hwgnpnipniGGtip)
wn pynid”
1. Jwlpwppwlwl nunigmy 46,953.0 46,953.0 -
-UnipuhnhwGbp ng-bhGwluwub ybnwlwb (hwiwjGpujhG) 4511 46.953.0 46.953.0 )
JuqiwlbpympniGGkphG T T
2960l 09| 6| 0 Upnpmipjulip mpuifwnming odwlnwl) ownwympniGGhn 5,592.8 5,592.8 )
nphg’
2961(09] 6| 1 |Yppmpjulp mpwiwnpynny odwlnpul dwnwnipnmiGGtp 5,592.8 5,592.8 -
wn pynid”
3. Umbunwynpdwl vhongny npuljun/npmy winwgwd
niumghsGbphl hunjbjun]swpGbph npwd i) 559.8 559.8 -
wnhpwipjuwo jhwgnpnipm 6L
- CGpwghl npuiwGnphltp whnmwlw L hwiw)GpGhph ny )
wnlunpwhG jugqiwtpynipmGGaphG 4637 3398 3398
6. Unbuununinpdwl Gnp hwdwluy, /117 1f"n wo
niunighsGhph nmu wndpuwguu (] unnyhpwlpjud 5,033.0 5,033.0 -
[hwgnpmpniGGhn)
- CGpwghy npudw)Gnphltp whnwlwl L hwdiw)GpGtph ng )
wnlunpuhG juqiwybpynipmGGaphG 4637 3,033.0 3,033.0
3000(10{0]0 UNShuLUuUUL NUTCSNULARE-3NFL (26,424.0) (26,424.0) -
wn} pynid’
3090l 101 9|0 Unghwpmlju G wuwyumwywGmpyni G (wj] nuubphl syunnfulng) (26,424.0) (26,424.0) }
nphg"
Unghwjulju G ywpwmwwlinipjwlp mpudwnpynn odwlnwl
3092 1101912 duwmunipnyGhp () nuubphG suunlpung) (26,424.0) (26,424.0)
wn pynid”’
1. Mbwmwlwl hhyGuplGhph L juquwlbpuympin GGEph
wpfuuwnnnnG6ph unghwpwlwé thwpbpny wuwhnynid (26,424.0) (26,424.0) -
(wuwwhpwipfwo jhugnpmpm GGbn)
-Uj GywuwmGhp pjnigkihg 4729 (26,424.0) (26,424.0) -




wyn pymd’ (wybpugmilGbpp Gyjno
% a | RymeotinnwjhG dwiuutph gnpéwnwwl nwuwyupgiwb % &G gl Grwbng, puly
=2 5 pwdhGGph, fudptiph L nuutiph, hGywtu Gul pynigtnwghG o ChquikGp GyjwqbgmuGlpp ynuljuuqotipniy)
;’,?) E E ¢| owluubph mmbuwghnwjwl nuuwympqiwl hnnymoGtph 3
wlfwlmiGtpp g Jupswywb pymet| pnlnwjhl pjnigt
1 21314 5 6 7 8 9
LhULULUVL AU ULULELRL 29-UUI NN,
3100 50,000.0 50,000.0 -
oo MULNRUSUBHL HOLAEL 0, ) (50, )
wyn pynud’
a0l 111110 << qwpwjupnmipjwb L hwdwyGplGEph wwhniumnwjhl $nln (50,000.0) (50,000.0) )
nphg
3112] 11 1] 2 [X< hwiwjGpGtph wyywhniunmwihG $nlin (50,000.0) (50,000.0) -
wn} pynid’
-MwhntunwjhG thongGtp 4891 (50,000.0) (50,000.0) -






